'NAN HUA PRIMARY SCHOOL

GCONTINUAL ASSESSMENT 1 — 2012 .

PRIMARY 5
MATHEMATICS

Paper1

I Section A: 15 Multiple Choice Questions ( 20 marks ).

Section B: 15 Short Answer Questions {20 marks )

Total Time for Paper 1: 350 minutes

INSTRUCTION TO CANDIDATES

1. Write your name and index number in the space provided.
Do not turn over the page until you are told to do so.

Foilow all instructions carefully. -

Answer all questions.

Shade your answers in the Optical Answer Sheet {OAS) provided

for Questions 1-15.

GRrON

6. You are not allowed to use calculator for Paper 1.

Marks Obtained

Paper 1 Booklet A

Booklet B /40
Paper 2 ] 60
Total 1100
Name :
Ciass : 5

Date : 28 Feb 2012

Parent’s Signature :

17






Section A {20 marks)

Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Mark your choice (1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical
Answer Sheet (OAS).

‘?. In 1 234 567, which digit:is in. the-hundred.thousands place?

(1
(2)
3
(4)

BN S

2. What is the walue ef the digit ‘4’ in 543 6137

(1) 400
(2) 40000
(3) 400000
(4) 400000C
3. Whatis.nine million and: niriefin numerals?
(1) 900009
(2) 900090
(3) 9000009
(4} 9000090

yd



Mr Tan’s salary was $2500 when rounded off to the nearest hundred.

What was the largest possible amount he could earn?

(1)
@)
(3)
@)

$2 450
$2 499
$2 549
$2 599

Round off the st of-10: 450 ahd 54016 the nearest hundréd:

(1)
()
(3)
4)

11 000
10 900
9 900
9000

- Which of the following is not divisible by 37

(M
2
(3
4

384
456
673
822

80000 stickers aresshared equally among 200 pupils. How many

stickers does each pupil get?

(1)
(2)
3
(4)

40
60
400
600




Fhe productef 3 numbers is 210.
Which of the foliowing is not the possible set of numbers?

(1) 5 6 7
() 3, 5, 14
(3) 3, 7 10
(4 2, 6 20

How many eighths are there in'S—l—?

(1) 13
2 14
(3) 25
(4 26

Which of the following is greater-than %?

G
@ 2
@ =2
@



11.

12.

13.

Whatis thevalueof1-=2+3-4+5

(1)
(2)
(3)
(4)

Find the largestdifference between a:3:digitnumberand a.2-digit

What is the makiriim ntimber of rulers Ken can buy with $43-if each
rulér costs: $6.30?

(1)
(2)
(3)
(4)

25
50
125

numiber
(1) 890
(2) 900
(3) 989
(4) 998

39
40
43

47 — 48 + 497



14.

15.

.3

John is standing at X facing east.

If he makes a 135° anticlockwise turn, where would he be facing?

B.
g 4

AQ ' :' é'c. :><’
5

o @

(1)
2.
(3)
(4)

o0 W >

The figure below is made up of 4 rectangles.

~ What fraction of the figure is shaded?

)

2)

(4)

Olx 0w G Ko



Section B {10 marks) -

Questions 16 to 25 carry 1 mark each. Write your answers in the spaces
provided. For questions which require uniis, give your answers in the units
stated.

16. - What is the last digit in the answer of 12 x 987
Ans :
17. 38-32+2+3x6=
Ans :

18. The table below shows a record of the number of books a class of

40 pupils read in a week.

Number of books read | 0 1T ] 2 3 4

Number of pupils 15 10 | 16 6 3

How many pupils read at least 2 books in that week?

Ans




19.

20.

Arrange the following fractions from the smallest to the greatest.

5
6

WM
1),

Ans : N
What is thesuni8f 2-5 and 5 ?
Give your answer in thessimplestforin. .

Ans :

27



21.

22,

23.

Line AB is a line of symmetry. Shade the correct shapes in the
grid below to make a symmetric pattern.

What is the quotient when 1089 is divided by 77

Ans :

Express 1% as a decimal.

Ans :




24, Judy left for work at 7.25 a'm. The joumey to her office took 1 45 min.

At what time did she reach her office?

Ans : am.

25.  Steve opens his Mathematics textbook and multiplies the 2 page
numbers that are facing each other. The product is 156. What is the
sum of the 2 page.numbers? -

29



Section B {10 marks _
Questions 26 to 30 carry 2 marks each. Show your working clearly in the

space provided for each question and write your answers in the spaces
provided. For questions which require units, give your answers in the units
stated.

26.  Whatis the 87" alphabet in the sequence below?

ABCDDCBAABCD.... ...

Kl 87"
Ans:
27. A creeper grows to twice of its original length each day. it

grows to a length of 1 024 c¢m in 10 days. How many days did
it take to grow to the length of 256 cm?

Ans : days

10




28.

29.

Study the pattern below.

1'_1=1.

2 3 6

1 11

3 4 12

111

4 5 20
What is the value of —1—-_!_?
49 50°

Ans:
in the number line below, AB = BC.
What fraction is represented by B?
A B %
1 1 EL]
1 2 1
6 4
Ans

11

21



30.

I arn a'4-digit even number.

None of ry digits aré the same.

My second digit is thrice my last digit.
My first digit is half of my second digit. .
The sum of aﬁ my 4 digits s 19.

What number am 1?

END OF PAPER 1

12




NAN HUA PRIMARY SCHOOL
CONTINUAL ASSESSMENT 1 - 2012

PRIMARY §

MATHEMATICS

Paper 2

Total Time for Paper 2: 1 hour 40 minutes

5 Short Answer Questions

(10 marks)

13 Structured / Long Answer Questions (50 marks)

INSTRUCTION TO CANDIDATES

1.
2.
3.
4.
5.

Marks Obtained

Write your name and index number in the space provided.

Do not turn over the page until you are told to do so.
Follow all instructions carefully

Answer all questions and show your workings clearly.
You are allowed to use a calculator.

Total

160

Name :

Class: 5

Date : 28 Feb 2012

Parent’s Signature :

33



Questions 1 to 5 carry 2 marks each. (10 marks)

. Show your working clearly in the space provided for each question and

write your answers in the spaces provided. For questions which require
units, givé your answers in the units stated. ’

1. Theareaof asqtateis 64 em® Whatis its perimeter?

Ans: om
2. —;; of a certain number is 40. What is —3— of the number?
Ans

3. Study the number line below.

Find the difference between -Value--xifand value Y.«

13

Do not
wiiteintl
space.



The.length-of a rectangular garden issthwieesits breadth. 16 biipllyare
spaced out equally:aliig thedength of the garden such that thereis a
pupil standing.at-each-end. If the distance from ongipupll tethenext

pupikis:6@.cos, find the bresedth of i yatden

The figuré below is made up of a square and.a triangle: The
tiangle has.3 eqiial sides. What is the geririeter of the figure?

Scm

14

Do not
write in
this space

=Y



For questions 6 to 18, show your workmg cleatly. in _the space provided for
each question and write your answers in the spaces prowded The number of
marks available is shown in brackels [ ] at the end of each question or pari-
question. - (50 marks)

6.

Jack wants to buy a bicycle but is St

Eiof $44% Jill wants to buy the
same bicycle but i shiort of $37. If they:combine their money, they
will have just enough money to buy the blcycle What is the cost of 2

such bicycles?

-

Ans: [3m]

I think of a number which isijessithan 50. When the number isddivided:
by 7! the remainder-ist 1. When the number issdividediby12, the
remainder.is 7- What is the numibér? '

Ans: {3 m]

15

Do not
write in
this spac




5 kg of sugar and-6 kg of rice cost $84.50.

1 kg of sugar and 3 kg of rice cost $38.50 Eﬁfg?f‘
How much is 1°kg of sugar? this space
Ans: [3m]

A ferry can carry either 15 lorries or 35 cars.

If there are already 9 lorries on the ferry, how many more cars can the
ferry carry?

Ans ; [3m]

16
31



10.

1.

There are 135 pensina box. -g- of them are red.

2 f them are green. The rest of the pens are biue.

How many more red than blue pens are thera?

Ans: [3 m]
There are some chickens and cows in a farm.
In all, there are 20 heads and 56 legs.
How many chickens are there?
Ans: _ [4m]

17

Do not
writa in
this spac




i2.

Mrs Lee waspai‘¢$3ffeﬁeverybracete! sold. Eoezevery 8 braceléls
sold, she was given a bonuszo} $5 How much did she receive if she
sold:138 bracelets? -

Ans: [4m)

13,

James had $40 more than Ken. Aﬁer James gave Ken $60, Ken had
twice as much as James. How much monéy did James have at first?

Ans: [4mj]

18

Do not
write in
this space.

29



14.

Mrs Tan Is 32 years old. Her son is 5 years old.

In how many years’ time will she be 4 times as old as her son?

Ans: [4 m]

15.

Every day, Toimisient$25%nd Hary-spent: $18;
When Tom had spent @it hisiinendy, Harry still had $490;teft:
How much did each of them have at first?

Ans: [4 m]

Do not
wiile in
this spac




16. A total of 360 teachers and pupils participated in tree planting.
Each teacher planted 3 trees and each group of 3 pupils planted 2
trees. If 520 trees were planted, how many pupils were there?

Ans: {5 m]

47  Mr Loh bought someealcillatorssand walthesfor$252.
Each watch ¢ost $24:and ezeh ealctlatoreast $16
He bought:8 ricre:watchesthan calculalors.

How many calctifators did-he buy?

Ans: _{5m]

20

Po not .
wrile in,
this space.

L)



18.

* Mrs Gopal had #5Hiens.

She sold -‘zi of thetheris and % of the dHEs.

i

She had a total of81hensandd ucks left.-
(a)::How many hens had she left?

(b) How many ducks did she sell?

Ans: a)

Ans: b)

End of Paper 2

21

{2 m]

[3mj

Do not
write in
this space.




ExamSutra % i E%

Answer Sheets

SCHOOL @ NAN HUA
SUBJECT : PRIMARY 5 MATHEMATICS

TERM : CAi

QLiQzl a3 [ 04 (o5 | G6 | G7 | 08 | G2 1010|011 [ 012 013 [ 013 | Bis |
d - b3 & 3 2 ] 3 1L 11

16)6 22J1089-+7 = 155 R4

17)38 - 16 = 22 : 23Y1arsho00 = 1,375

22 4+ 18 = 40
| | 2439.10am
IB6+ 6+ 3 =25

2517 4 13 = 35
19375, 23, 516
» 2638758 = 10 R7 .-

20)2s18 + 35 = Qosren + 24740 The number B

= 2dufan = 3o 0

27)3024+2 = 512

A o™ day->512
ST 51242 = 256
Fe - Bth day->256

W ' ” 28349 x 50 = 2450 { 1/2450)

| i - A 29)5/24

L 5 J 30)3682

Page [ 04 " page |



Paper2
1)6demz=8x 8
Bx4=3%cm

2)40 x5 = 200
20054 = 50

333;5 w 56 = 0.9
G5 x 3 =045

4316 pupils->15 divisions
Lengﬂﬁéﬁﬂ % 15 = 900

F00+3 = I00am

5)8cm + Bem + 3om + Som + Som

+ 5cm = 3d4om

6)$44 ~ $3?’” = $7
$44 - $7 = §37
$37x2=%74
$74 + §7 = $81
$8Lx2= %162

THILT =6 R1
43242 = 3 RY
"l‘hﬁ numberis 43

B)$38.50x 2 = $77
%Mﬁﬁ“ $‘?J“ W 50

Y15 lor->35 car
Ilor 7 car
35— 2= 14

15 x 6 = 90

11)20 x 4 = B0
80~ 56 = 24

L3

[ 14

e T Y B Y e

page 2




128 x$3 = $24
$24 = $5 = $29
1388 =17 R2
$3x%$2 = %6
$29 x 17 = $493
$493 + 6 = $499

13)$140 — $60 = $80
$100 + $60 = $160
$160--2 = $80
James have $140 at first

14)MrsTan : S Con.difference
32 5 27
(4 : 1 3)x9
36 9 27
36—-32=4

In 4 years time.

15)$25 — $18 = $7
$490=%$7 = 70
70 x $25 = $1750

16)
Guess No.of No.of trees |No.of No.of tress Total no Check
Pupils planted teachers plants of trees p!

1 |210 2103 =70| 150 150x 3 450+140 X
70x 2 =140 =450 = 590
1803 =60 180 180 x3 5404120 X

2 |180 60x2 =120 =540 =660
240--3 = 80| 120 |[120x3 360+160

3 240 [ 80x2 =160 =360 =520 J

There were 240 pupils.

Page 3

hS



17)8 x 24 = 192
752 — 192 = 560
$24 + $16 = $40
$560=$40 = 14

18)a)132+4 = 33
b)81—-33 =48
48 -2 = 24

Page 4
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